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N ) 46. 50 1 45. 03 1
FRANT 30. 00 2 25.71 2
B 19. 57 3 14. 74 4
N 18.72 4 17. 54 3
TR EFHT 17. 94 5 14. 33 5
J\ JE HT 15. 47 6 9.72 12
KR 14. 49 7 5. 69 20
oo 14. 32 8 12.15 8
ook 14. 23 9 13.05 7
K BT 13.78 10 13.43 6
fo 12.79 11 8. 68 13
Nl T 12.75 12 10. 60 10
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Nl 10. 78 14 9. 86 11
T omy 9. 65 15 3.53 22
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(BT - - - -
(FIEH) - - - -
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g I T 8.13 19 7. 60 17
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& [ HT 7.38 21 7.98 15
T ) 5. 90 22 5. 90 19
I HpOHT 5.31 23 5.25 21
fit & A 1.93 24 0. 90 23
KX P9 ET 0.23 25 0.23 24
i H A - - - -
oON AT - - - -
2 ¥ 1y 13.30 10. 74
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